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The ratio of boys to girls in a class is 7 : 8. If the number of boys is 56. then, find the number of
girls.

a. 60 b. 62 c.64 d. 66

RH UGLLID SewiHeT BB OCuedisefer aldlsd 7 : 8 uGWD. ewiseriler elemienlbmsas 56
eTenled OIawTEb6M6 6T6uT6wITE>6mes  6T60T60T

a. 60 b. 62 c.64 d. 66

alensbeLD

Ratio of boys to girlsis 7 : 8
let the number of boys and girls be 7x and 8x respectively.
7x =56
x=8
then number of girls =8 x 8 = 64
OLEUTH6T OBMID GCuesiseie alldsn 7 : 8
OLeTHETGT cTewIelbemd = 7X  616515b.
Quentsefelr elewiemibamaes = 8x
7x =56
x=8

Quenisefesl elewienldmed = 8 X 8 =64

IfA:B=7:4,B:C=7:6thenfind A:B:C?

a.56:28:24 b.49:28:24
c.48 :24:28 d.28:49:24
A:B=7:4,B:C=7:6¢afls0 A:B:Caer i Srems.
a.56:28:24 b.49:28:24
c.48 :24:28 d.28:49:24
-3 3h)

A : B : C

SN ©

Yo
49 : 28 : 24

IfA:B=4:5B:C=6:7C:D=2:4thenfind A:B:C:D

a.24:30:35:70 b.24:35:30:70
c.24:70:35:30 d.30:70:35:34
A:B=4:5B:C=6:7C:D=2:4aale0 A:B:C:Deir wHliy Srewic.
a.24:30:35:70 b.24:35:30:70
c.24:70:35:30 d.30:70:35:34




alendbaLd

+by2 24 x2:30%2:35%2:35x4

24:30:35:70

64. Ifa:b=4:7,b:c=21:25then find

¢’ -b?

2 +b2

2 2 b, 2 L 8y 18
" 530 " 533 " 489 " 1066
1L : A1)

a : b : C

.\ " O
@ 21 >

4x21 : 7x%x21: 7x25

+by7 4x3 21 : 25
12:21:25=a:b:c
c’—bh* 25%-271°

Now e = SENPYE [c=25,b=21]
625-441 184
625+441 1066
c’—b*> 92
¢’ +b? 533

65.  Three numbers are in the ratio 3 : 5 : 7 and their average is 90. Find the smallest number?
a. 50 b. 54 c.42 d. 30

(Tl GTeWIBET 3 @ 5 : 7 eleiB aldSHHHe0 o sitener. SeuBmlelr FgTST 90 6oy OielbleuemISET6D
WasFHslus 6160017

a. 50 b. 54 c.42 d. 30
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alendbaLd

Ratiois3:5:7
Let the three numbers be 3x, 5x, 7x
then average = 90
3X+5X+7X

=90
3
15x=90%x 3
x =18
Smallest number = 3x
=3x18=54

aldsb =3:5:7
CLOGBTI  6TEWTERGIT 3X, DX, 7X  6T6tich.

b elewikefar gymam =90

3X+9X+7X _ 90
3

15x =90 x 3
x =18

fw etewr = 3x
=3 x18
=54

Salaries of Ram and Murugan are in the ratio 2 : 3. If the salary of each is increased by Rs.
4000 the new ratio becomes 40 : 57. What is Murugan's salary?

a. 50000 b. 36700 c. 46800 d. 38000
Jmb LOBE@ID (WP(hBeNer Fbuend 2 : 3 6B alflssHed 2 eengl. Cweld smbBHeoTs G (HeU[hHESLD
h 4000 &uemd o wiTH D CUTRs SeuBBler aldlsbd 40 : 57 UFHBH  GTHIMBIED  (LPIHB6 60
gLbLIeNLD  6T60T601 7

a. 50000 b. 36700 c. 46800 d. 38000
alenéaLd

Salaries ratio=2:3

Let the salaries be 2x, 3x

then New salary of Ram = 2x + 4000

Murugan = 3x + 4000

New Ratio =40 : 57

2x+4000 40

3x+4000 57

114x + 4000 x 57 = 120x + 4000 x 40

4000 x 57 - 4000 x 40 = 120x - 114x

4000 (57 - 40) = 6x

4000 % 17 = 6x
34000 = 3x
Murugan's new salary = 3x + 4000
= 34000 + 4000
= 38000




allena 1D

FouensHer aldsd =2 : 3
gmes FibLemb = 2X
(PHBRNEET FIDLIGTD = 3X, 6T6315.
ydw gouemb, gmb = 2x + 4000

wmaast = 3x + 4000
ydHw eldsp =40 :57
2x+4000 40

3x+4000 57
114x + 4000 x 57 =120 + 4000 x 40
4000 x57 - 4000 x 40 = 120x - 114x
4000 x 17 = 6x
34000 = 3x
(WwmdBie yHw Fbuemd = 3x + 4000
34000 + 4000 = 38000

67. A bag contains 50p, 25p, and 10p coins in the ratio 5 : 9 : 4, amounting to Rs. 206. Find the
total number of coins in the bag?
a. 540 b. 600 c. 720 d. 800
awm euuled 50p, 25p, wmmid 10p SFw ErewwWmEsT 5 @ 9 : 4 6aB alFsHsSHe0 2 slermer.
Slmeauskeflelr  Oomdhs  WwHOY 206 el SiewUuied o efen  OOTHSH  [HTEOTLMISEN 60
61600160011 b N EBEMLL  BITEUIIE ?

a. 540 b. 600 c. 720 d. 800
allensbaELD

Let the number of coins be 5x, 9x, 4x
total amount = 206

then >0 xBX+ X X9X+1]8)OX4X:206

100 100
0.5 x 5x +0.25 x 9x + 0.1 x 4x = 206
2.5x + 2.25x + 0.4x = 206
5.15x = 206
x =40
Number of 50 p coins =5 x 40 = 200
number of 25 p coins =9 x 40 = 360
number of 10p coins = 4 x 40 =160
total number of coins = 200 + 360 + 160 = 720
allengmLb:
BrewlLBIG6T6T elemrenidbend DX, 9x, 4X er6iis.
Qwrds wH] = ap 206

50 x5X + 25 x9X + 10 x4x=206
100 100 100
2.5x +2.25x + 0.4x = 206
5.15x = 206
x =40

Cwrss Hrewwnkisele eeweanidmas =5 X 40 +9 x 40 + 4 x 40
=200 + 360 + 160 = 720
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68.  Salaries of A, B, and C are in the ratio 2 : 3 : 5 respectively. If their salaries were increased by
15%, 10%, and 20% respectively what will be the new respective ratio of their salaries?
a.23:33:60 b.24:33:64 c.22:33:55 d.10:11:14
A, B opgib C guemd apeopBu 2 : 3 : 5 aaip aldsHsHHed o eener. SauTdefle FLDLGTLD
wedpBw 15%, 10% wimib 20% oHsNHH HHHTO DeuTseien FbuaThHer LS aldsd ereier?
a.23:33:60 b.24:33:64 c.22:33:55 d.10:11:14
allemeb LD

Ratio (af&lgLb) =2:3:5
15%, 10%, 20% Increased salary

. 115 _ 110 _ 120
New ratio w eal&dsd) = 2x 13x 5%
(g PI) = 2x100- 100" 100

=2x115:3x110:5x 120
=2x23:3x22:5x24 =23:33:60

69.  The ratio between the present ages of Ram and Arun is 2 : 5 respectively. After 6 years Ram's
age will be 30 years. Find Arun's present age?
a. 50 b. 60 c. 64 d.30
gmd BmIb Sihenler SBEUTHSHW g alaslsd 2 : 5 gmbiel euwd 6 SeuibhHend@ ey 30,
a1&dl60 Si(Hewial HBOUTENSHUI 6UUIGI 616016017
a. 50 b. 60 c. 64 d.30

allensbaELD

Ram : Arun's present age ratio=2:5
Let Ram's present age -y
Arun's Present Age = 5x
After 6 years Ram's age =30
2x+6=30
2x =24
x =12
Arun's present age =5 x 12 = 60
gD BB Simenller euwgl eldsd =2:5
gmoet SBGUTeMSHUW euwigh = 2X
SImewieT SBCUTEMSHW auuwigkl = S5X
6 QUBLEIBEHHE e gmier euwig = 30
2x +6 =30
2x =24
x =12
Simeniler HBCUTMHW euwig =5 x 12 =60

70.  The average age of a Father and his son is 36 years. The ratio of their ages is 5 : 1 respectively.
What will be the son's age?
a. 11 b.12 c. 13 d.14

FHendH WLBDILD SeuTH aeiet FITFf euwgd 36. SeuTdeier auwg eldlsd 5 : 1. eelled B
SBOUTMSHUI 6ULIG] 6TevT60T?

a. 11 b.12 c. 13 d. 14
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alendbaLd

Ratio=5:1
let Father age = 5x
son age = X

Average = 36 5X2+ X_36
6x =36 x 2
x=12
son's present age =12 x 1 =12
aldab =5:1

SHHmSHUINGT Uik = S5X
LDBHENGIT QUG = X 616015,
gyraf = 36

SX + X

2
6x =36 x 2
x =12

waeler ok =12 x1=12

=36

71.  The ages of vijay and kamal are in the ratio 15 : 17 respectively. After 6 years the ratio of their

ages will be 9 : 10. What will be the age of vijay after 6 years?

a. 40 b. 30 c. 34 d. 36
allmul oBEpId Swelsr SBEUTMSW G alFSD 15 : 17 6 HawiBHEHEHS LI DIUTHTH UG
aldad 9 : 10 eiaied 6 MIBHBHEHHE e aleguier euuigl erevtenn?

a. 40 b. 30 c. 34 d. 36

alenéaLd

Raito =15:17
Let vijay's age = 15x
Kamal's age = 17x
After 6 years Ratio =9:10
15x+6 9
17x+6 10
150x + 60 = 153x + 54
60 - 54 = 153x - 150x

6 = 3x
x=2
After 6 years Vijay's age = 15x + 6
=15x2+6
=30+6=36

aldlan =15:17
almuie euwig = 15x
sevlert euuwigl = 17X eletish
6 aUIBLEIBEHHEG e aldsnd =9 :10
15x+6 9
17x+6 10
150x + 60 = 153x + 54
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60 - 54 = 153x - 150x

6 = 3x
xX=2
6 aumLBIB6T L6 afleguien euwigd = 15x + 6
=15%x2+6
=30+6=36

72.  The ratio of ages of three numbers is 3 : 4 : 5 and the sum of theirs squares is 1250. Find the
sum of the numbers?
a. 30 b. 50 c. 60 d. 90
PSIWI eTewIbeMenT oSG 3 : 4 : 5 wBpId SeuBpler aThsmEala gl BdH OHTemsd 1250 eeiled
Db eTenIH6MeT Tl BHOHTND HT6wISH !
a. 30 b. 50 c. 60 d. 90

alensbeLD

Ratio (al&dsb) =3:4:5
Let the ages be 3x, 4x, 5x
Given (3x)? + (4x)2 + (5x)? = 1250
9x2 + 16 x2 + 25x2 = 1250
50x2 = 1250
=25
XE
Sum of the ages of numbers = 3x + 4x + 5x =15 + 20 + 25 = 60

73.  Ram is 40 years old and Ranjith is 60 years old. How many years ago was the ratio of their
agesis3:5?
a.5 b. 10 c.20 d. 37
gmbler HBCUTMHW euwigh 40, TehFHHe euwg 60 61HHMT QUHLMIGHET (LP6iTL] SIeUTH6IM6T 6UULIGI
3:5 aldlsb e BHEHGn?
a.5 b.10 c. 20 d. 37

-3 Ih)

Let 'x' years ago the ratio of their agesis 3 : 5.
Ram 40-x 3

Ranjith  60—-x 5
200 - 5x =180 - 3x
20 = 2x
x =10

74.  The present age of father is 4 times the sum of the present ages of his two sons. 10 years
hence the fathers age is 2 times the sum of present age of his two sons. Find father's present
age?

a. 50 years b. 55 years c. 60 years d. 65 years

emeuflear HBCUTMHW auwig Sleufler B Waaselar uwgBlar gl (HHosTendamuits Gumed 4
LEEG o 6tengl. 10 eumpLmsEndsE LUpg oeuflar awgd &m  waaisefer  euuwigiseier
L (pHoBTendEmWILI BGuTed 2 LMIG G el Sleuflenr HBOUTMHW 6UULIFH 616560 ?

a. 50 au(pL b b. 55 au(pL1b c. 60 au@pLID d. 65 au@pLIb

8 | Page APPOLD STUDY CENTRE D44-24333436, 42867555, 9840226187




75.

alendbaLd

Let Father's present age = F
and the two sons present age be x, y
F=4(x+y) - (1)
10 years hence Father's age = F + 10
two sons age =x +y +10 + 10
=x+y=20
F+10=2(x +y +20) — (2)

From (1) :; =X+ Y substitute in (2)

F+10=2(x+y) +40
F-30=2(x+y)
F-30= 2><E

4

F-30= F
2
2F-60=F
F=60
Fhomsuler HBEUTMSHW euwig =F eleis.
@i HEIBANGT UG X LOBBILD Y 616018,

F=4(x+y)
—=x+y) )

10 supLmiser Uea, sbhwsuler euwg =F + 10
BRI Woaisefler euug =x +y +10+10

x+y+20
F+10=2(x+y +20) — (2)
From1 & 2
F+10=2(x+y) +40
F-30=2(x+y)
F-30= 2><E
4

F—30=E

2
2F-60=F
F=60

The present age of Ram is 6 times his son's age. 4 years hence age of Ram is 4 times his son's
age. Find the present age of Ram?

a. 36 yrs b. 30 yrs c. 24 yrs d. 28 yrs

gmb eredueuflelr euwIgl Heir aelal auwendHll CGuTed 6 WLMIG, 4 U(BLMIS6T HhHH Seuflear auuwig
w&eT e Sl Gumev 4 LMIG eeied gmbiler SHBOUTMSHW eI 6166 ?

a. 36 b. 30 c.24 d. 28
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CEN
CHENNAI
alendbaLd

Let Ram's present age = x
son's present age =y

x = by — )
Four years hence Ram's age = x + 4

son's age =y+4
x+4=4(y+4)

x+4=4(§+4] from (1) y =

XM:% +16
3

X
6

_2x

3
3x - 36 = 2x
x =36

x—-12

alleneadLD:
gmbler sBOUTMSHW WG = X
oHafal SBOLTMSHW B =Y 6l6lsH.

X = 6y

y:% —1
4 UHLMISET HLHHH
gmblest euwigh =X + 4
&I awg =y + 4

x+4=4(y+4)
X X
x+4=4|=-+4 from (1) y = =
(5+4] Wy= >
X M:% +16
3
X —12:§
3
3x - 36 = 2x
x =36
76. A boy is twice as old as his sister. four years ago he was thrice as old as her. what are their
ages now?
a. 18,9 b.14,7 c.16, 8 d. 12,6
meusst et FCaTHMenw el @rewi(h WLMIG IS DIFHHBD. BTG UHLBEISEDHDHES (6] Sieue
sar FGaxraflewws el cpeipl LMIEG G DIFHHLD 66lled HBEUTIDSHI DleuTaerlledr euulIg 6leiten?
a. 18,9 b.14,7 c.16,8 d. 12,6
10 | Page
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77.

78.

alendbaLd

Let Boy's age
sister's age
x =2y
_ X
Y72
Four years ago boy's age = x - 4
sister age =y -4
x-4=3(y-4)
2y -4=3y-12
12 -4 =3y -2y
12-4=y
8=y
x =2y
x =16
enUWefled aug = X
FCHTHMNT UG =V 616015,
x =2y
BTG QI(HLMBIGHET (LPeSIL| enLweNe auulg = X — 4
sCaraiuler auwg =y -4

=X

2y)

x-4=3(y-4)
2y -4=3y-12
12 -4 =3y -2y
12-4=y
8=y
x =2y
x =16

(x =2y)

If 30 men take 80 days to complete a work, how long will it take if 30 more men join them to
complete the same work?

a. 20 days b. 40 days c. 60 days d. 45 days
30 a6 b Cousmevenw! (pI9HEH 80 [HI6TH6T 6IhHHIS CBTeiTauT. 6Tealed DieUTHEHL 6T GLogILD
30 oemize CaMphHTeL DIBFH GeuemeowTaridl (PIQUI 6THHMET [HT6TH6T LGLD?

a. 20 mr el
allensaLd

M;x D, xT,

b. 40 B seit

M, xD,xT,

Wl

WZ

30x80  (30+30)x X

1
x =40 days

1

c. 60 B e

d. 45 pr el

3 women or 7 men can construct a room in 88 days. How long will it take for 6 women and 8
men to do the same type of room?
a. 27 days b. 28 days

c. 29 days d. 30 days
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79.

3 QuemideT SIVeVH T LENIFHET T MO 88 BmeTHeiled &llg (LT g Gumes
DB 6 OLIWIHAT LOBBID 8 EWIH6T HLIQ (PIQHDH 61HHENE BTETH6NT DLESHLD.

a. 27 mrsei b. 28 prL et C. 29 prlser d. 30 pr el

allenéeLd

Let M and W denote a men and a women respectively
then, 3W=7"M

6W=14M

6W + 8M

=14M + 8M

=22M
If 7 men can construct in 88 days then
22 M can constructin 88 x 7 =22 x x =28

@rig M oppid W gdluime @Tf Suemt oBpid ¢f Guetienet @Gnla@d

3W=7"M
1W= ’ m
3
Now, 6W + 8M = 6><£ M + 8M
14M+8M
=22M
7 oW1 T Slenpenul 88 BIeTHeMe0 &Iy (PIQLIUTT 6ieiled 22 SLewl SibSH SlMBENLL
88 x 7 =22 xx
X =28
Short cut
Required time to construct the work = %
— + iy
Xy
88 _ 88
9 + § 2+ §
3 7 7
_88x7
22
=28 days

A and B together can do a piece of work in 32 days and A alone can do it in 48 days. How
long will B done to complete the work?

a. 48 B. 96 C.90 D. 84

A vppib B e @meupd Qevenihal @b Cauemevenwt 32 preiseflsd (wpplur. A siCw b,
Gouemevemwl 48 mTeTHellsd (LT eeiled B el obs  Couemevenul eiHHewenn BT H6M6y
(Wirimir?

a. 48 B. 96 C. 90 D. 84
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alendbaLd

(A + B) 1 days work = %

A's1 day work = £l
48

B's 1 day work = 1 1
32 48
_3=2_1
9% 96
B takes 96 days to complete that work.

eN&ELD:

(A+B) @61 1 BreT Gouemev = %

1
A- ®ear 1 BTeT Gauemen = —
Qa1 b 48
1 1
B 1 1 mmeir Geuemey = — — —
Qe 1 b 32 48
3-2_1

6 96
B steiiueum 96 mreiiseriicd Geuemnevemut (LOIQLUILITT.

80. A and B can do a peace of work in 20 days and 30 days respectively. They started the work
together and B left after some days of work and A finished the remaining work in 5 days.
after how many days B left?

a.8 b.9 c. 10 d. 11

A oppd B @Gt @m Geuemevenw (wempGw 20 wmpid 30 preiseflsd  (plILIT  SieuTHe
Ameumd epTaF GaFibha GCouamevenwd OFTLmSemT. Foo BHreTser Geouemev OFuln LIpg B
SperalT  CFeamielhamT WHupsiten Geuemevenws A SemeuT 5 BILHeMe0 (LPIShABIT erefled B
THBHM BT6eTHEHHG LIBG Couemevenw! el (hF OFemmmT?

a.8 b.9 c. 10 d. 11
allenéald
A - B 1 BT Gouemev - L
20
. . 1
B- @1 1 mren Gauemev =5

A- @ar 5 pBreT Gauemev = ix5:£
0 4

. 1 4

18speiTem Gauenev 1—Z_A
B peiten  Geuemevenws A wmmid B Gaibg  (pgliumitser elefled A woppid B — et 1 e
1 1 50 5 1

Gouemer = —F—=———=——=—

y
4

<=9 BreiTsel

12
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82.
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A's 1 day work = i
20

A's 5 day work = 1 x5= 1
20 4

B's 1 day work = i
30
. .1
Remaining work = 1—2_ A

-5 _
A and B 1 day work = 50 %2

4

Remaining work done by A & Bin = =9 days

NS

A alone works for 3 days and B alone works for 6 days to complete the same work. How long
will it take if they work together?

a.3 b. 4 c.9 d.2

A aeuaut @ Geuemevenw 3 BT &EHD B ereiueuT 6 BILSEHD  (WPQUUTTS6T  6T6fled  G(HeU(hLD
Gaibal SIbH Goueneven! 615HSHM6T [HT6TH6IM6D (LPIQLILITTSHET?

a.3 b. 4 .9 d.2

alenéaLd

A's 1 day work =

B's 1 day work =

olk Wik

(A+B)'s 1 day work = 1+1
3 6
1

2

+
6

olw

R

A and B together takes 2 day to complete the work.

A and B can do a certain piece of work in 10 days. B and C can do it in 12 days and C and A in
20 days. In how many days A alone can do the same work?

a.25 b.35 c.30 d. 40
A ppb B Gsibal @ Geaumevenw: 10 mmisefled pglimiser, B wpmd C Gsipbg 12
BrLsefe0 (ipliuniser, C woppid A 20 prmisefled (wpgliumTser eeflsd A WLGL DbH Ceuenevenul
THBHMS BT H6IM6e0 (LIQUIImiT?

a.25 b. 35 c. 30 d. 40




83.

&4.

allengasld
1
(A+B)'s 1 day work =— —1
10
(B+C)s 1 day work :% —2
(C+A)'s 1 day work :2—10 —3
Add1+2+3
\ 1 1 1
2 (A+B+C)'s1 day work =—+-—+—
10 12 20
_6+5+3
60
14
(A+B+(C)s1day work =
60x 2
14 1 1
A's1 day work =_——-— B+C)'s1 day work = —
Y 120 12 (B+Q) Y 12 )
14-10_ 4
120 120
= % A alone can finish it in 30 days
30 men can do a piece of work in 10 days. In how many days 15 men can do the same work?
a. 20 days b. 25 days c. 30 days d. 15 days

10 mreisefled @b Geuemsvenwt 30 SLewid6l (WPPLILTTSH6T eadied 15 Spemisenr 8% Geusmsvenw
THBHMS [BT6ITH6MED (LIQUILITTEEIT?
a.20 B sei b. 25 mrseit c. 30 mrlser d. 15 mrsei

alenéaLd

M, xT,xD, _ M, xD,xT,

Wl W2
30x10 15xT,

1 1
20="T»

If 3 men or 9 boys can finish a piece of work in 21 days. In how many days can 5 men and 6
boys together do the same piece of work?

a.12 days b. 9 days c. 14 days d. 15 days

3 LemiH6eT SlevevdH 9 LomewiauTHel @b GCousmevenw! 21 BI6TH6eMed (LPIQLILIMTEH6T 6T6ell60, 5 SLEwISH6N
LBEID 6 wreneTHeT Caiba DibdH Couemevenu! 61HHMe BT H6IMeD (LIQUILIMTEH6IT?

a. 12 mm sei b.9 ®mr e c. 14 mrser d. 15 prsei
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alendbaLd

Required time to do the work =

b
X" y
_ 21 _ 2
_5 5 =_°=
J— J— 7+7
3" 9 3
_ 21x3
7
=9 days

A person travelled at a distance with uniform speed of 9 km/hr and return to the starting
point with the speed of 3 km / hr. Find the average speed of the whole Journey?
a.45km / hr b.5.5 km/hr c. 6 km/hr d. 6.5 km/hr

T GPUILL Fpdems 9 @b/wenll GCoussHdled GFeedmrt Hmwl eumd Guig 168
amsHmad 3 F1f / el GoussHdev GFaipred oieufler Fymam Geusld ereen?

a. 4.5 &8/ oewf b.5.5 &8 / wenll c. 6 Hi / wewd d. 6.5 &.6 wew

allenda®LD
2xy
x+y
2x9x%x3

9+3
2x9x3

12
=45km/hr

Average speed (ggnafl Geusid) =

A man can complete a journey in 10 hrs. He travels First half of the journey at the rate of 21
km/hr and 2nd half of the journey at the rate of 24 km/hr find the total journey in km?

a. 220 km b. 224 km c. 225 km d. 228 km

QT @ GPUILL smHmag 10 wwewl ChIHHed SLHBHMBIT. DFHed (WHev urd sMrHms 21
s / el CoussHad DIBSHS uUTH SMIHMS 24 S / wenll CoussHID SLHHTEL Dl
sLbHS OTHs SHMID eelelere) (in km)

a.220 &1 b.224 &.6 c.225 &8 d. 228 &.i

-3 3h)

let the total distance be 'D'
then Total time taken = 10 hours

Ti1+T>=10

D/2+D/2:10 Time:dlstance
21 24 speed
Dl2a+21]_ .

2| 21x24

DI_2 |
2 21x24




87.

88.

89.

D =56 x2x2
D =224 km

A train covers a certain distance of at a speed of 200 km/hr in 5 hrs. to cover the same
distance in 2 hrs it must travel at what speed?

a. 600 km/hr b. 500 km/hr c. 550 km/hr d. 450 km/hr

@ Osmimeuemiy G L smysdmsd 200 km/hr Gaussdled 5 wenl CoIsHHed &L SBMSHI. 6Teiled
96z aMHma 2 wenll CEISHHL FHLHB QFHTLTeuenly elelcalene] Caudsshdlev GFever Geuewi(BLd?

a. 600 @18 / wew b. 500 &.f / wew
c.550 &6 / wew d. 450 &8 / wewf
alensbeLD

Distance (gmyw) = speed (Bausib) X time (Hmyib)
=200x5
Distance = 1000 km
Distance
time
_ 1000
2
speed =500 km / hr

speed =

A truck covers a certain distance in 12 hours at the speed of 70 km/hr. What is the average
speed of a car which travels at a distance of 120 km more than the truck in the same time?
a.76 km/hr b. 85 km/hr c. 82 km/hr d. 80 km/hr

am Lgsd 70 km/hr Gussdled b GUILL gmysms SLds 12wl Gpyb  dBHS
QaTedBa  ammed b &1 6% CrrsHded s e HMTEHMs ol 120 km i@
CFe0a8BaIl. eedlled SMHLW Fyngdl Geusld eleileueney?

a.76 &8 / wenf b.85 &.uf / wenll .82 &S / wenll d.80 &5 / wewf

alenéaLd

Truck - Distance = speed x time
=70x12
= 840 km
Car - Distance = 120 + truck's distance
=120 + 840
=960 km

Speed of the car = % =80 km /hr

A person Walking 3/4 of his usual speed is 10 min late to his office. Find his usual time to
cover the distance?

a. 10 minutes b. 50 minutes c. 30 minutes d. 40 minutes

R LANST et Buieouter GCoussHHed Y4 Geusld vwewid GFUHTEL 10 BOLD SHTOSOTEH
SIVIAIVBHLD QFLGUTT 6Tafle0 SIUT BUILITS Db SHMTHMS SLUUSBEG 61(hHH OFTeeEnd GHyLD
oT6oT601?

a.10 ML b.50 B b c.30 Bl d. 340 @
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alendbaLd

Usual speed =S
Usual time taken =T Distance = speed x Time

New speed = %S

New time taken = (T+10)

/8/><T=3/g/(-|;1+10)
4T =3T+ 30
T = 30 minutes

(Distance is same)

A man travelled a distance of 61 km in 9 hours. He travelled partly by foot at 4 km/hr and
partly on bicycle at 9 km/hr. Find the distance travelled on foot?

a.16 km b. 18 km c.24 km d. 10 km

@@ WwelaT 61 SIS LT sMIHma 9 wewl CHIHaled SL&EHBIT. SeuT GHUUILL SMIHme 4 &
/ el GCaussHed BLHEHID WBHupeTen sHigsHemd 9 S [/  wewil Cusdhded  Ldeuemtguied
UWwenlSBDBIT eTefled SjeuT BLbHGH LD QFulsH ST 6leitenn?

a. 16 &8 b. 18 &.8 .24 &8 d. 10 .8

allensbaELD

Let on foot distance = D km
Bicycle distance = 61 - D km
Total time taken = 9 hours
D 61-D
—+—=9
4 9
OD+61x4-4D=9%x4x9
5D+ 61 x4=81x4
5D=81x4-61x4
5D =4 %20
D =16 km
BLbS O smyb =D
deuewnguied smyb GFem =61 - D km
Qursgs Gy =9 hours
D 61-D
—+—>=9
4 9
OD+61%x4-4D=9%x9x%x4
5D=81x4-61x4
5D =4 x20
D=16

If man walks at 4 km/hr to an office he was late by 5 minutes. If he walks at 6 km/hr he
reached office 8 minutes earlier. Find the distance travelled by him to an office?

a. 2.7 km b. 2.6 km c.24 km d.3 km

@m BUT 4 @i /el GausdHdled BLHSTL 5 BIOLID STDFHIOTS DIOIEHHBEGE CFe0euTt. L6
ot 6 A / wenll CaussHHed BLHHTO 8 MIOLID WaTaHTH8a  SieaIdSHBE CFevauT
GN6L DIAUT DIVIAIVBHHBE BLHSH OCFeTB HMTLD 6lelauena]?

a.2.7 &b b.2.6 &.8 c.24 &S d.3 &b




alendbaLd

Time difference = 8 - (-5)

=13 minutes
d_d _13 (Distance same)
4 6 60

6d—-4d 13

4x6 60
od = 13x4x6
60
d=2.6km

92.  Excluding stoppage, the speed of a bus is 54 km/hr and including stoppage it is 45 km/hr. for
how minutes does the bus stops per hour?
a.8 b.10 c.12 d. 13
PoSHO b Beveomoed @ GBumbdar Geusd 54 @i / wenll wBHID BBISSIOLID EHbSHT6V
Gousld 45 &8 / wewll e1afiled weWIbE el6lauena] BIOL BiseT GUBbHS BHISSIUL L &I?
a.8 b.10 c.12 d.13

alenéaLd

Due to stoppage = 54 - 45 =9 km

so it has travelled 9 km less, then time = ;—4

= :lx60min
6

T = 10 minutes

93.  The average of six consecutive odd numbers is 46. What is the smallest of these numbers?

a. 42 b. 43 c.44 d.41

SbHSBHD DB PMemBLILIHL.  OFHTLT elewibaienr FgTafl 46 elalled @FHed o 6ilen WSS &HMBHSD
cTeuutemilall LI Tenend HTewich?

a. 42 b. 43 c.44 d.41

-3 Ih)

Letx,x+2,x+4,x+6,x+8,x+ 10 be the x consecutive add numbers
Sumof all the number

Totalnumbers
X+X+2+X+4+X+6+X+8+x+10

Average (gynafl) =

46 =
6

46 x 6 = 6x + 30
276 - 30 = 6x
246

— =X

6
41 =x

smallest number is 41

19| Page APPOLD STUDY CENTRE D44-24333436, 42867555, 9840226187




94.

95.

9.

20 | Page APPOLD STUDY CENTRE D44-24333436, 42867555, 9840226187

(APP€> 100 |

Average of five consecutive even numbers is 280. What is the largest number among these?

a.284 b. 286 c. 280 d. 278

Wb AUl emL LUl OFHTLT elewideien Fyrafl 280 el oigHed WSLICOUTW eTewTenemT SHTeTs?
a. 284 b. 286 c. 280 d. 278

afleneb LD

Let x, x+2, x + 4, x = 6, x + 8 be five consecutive even numbers then

sum

Average (gymaf) = ——

ge (o) Total
X+X+2+X+4+X+6+X+8

280 =
5

280 x 5 =5x + 20
280 x5 -4 x5 =>5x

5 (280 - 4) = 5x
5 x 276 = 5x
x = 276

Hence the numbers are 276, 278, 280, 282, 284
The largest number is = 284

The average of a group of men is increased by 8 years when a person aged 22 years is
replaced by a new person of aged 62 years. How many men are there in the group?

a.6 b. 8 c.4 d.5
22 W enLW @(h BUBSE USHTS 62 eughedlul @b LHw bBUT iBBruGD Cumgh oyemser
Gpaler ggmgfl 8 LewihHel HHBMNHHBSHI. 6Tafled GHUaTN6L 615HHME DLEWIH6IT © _6IT6N6IT?
a. 6 b. 8 c.4 d.5

allensbaELD

Let 'x' be the number of persons in the group.
Replaced Age difference = 62 - 22 = 40
x x 8 =40
x=5

Gallsd o 6o QoM BLITHMGT cTawienidbmd “X' 6T6iIH.
awgl alsHurgd 62 - 22 =40
x x 8 =40
x=D5

The average age of three men A, B and C is 45 while the average age of three men B, D and E
is 52 kg. What is the average age of A, B, C, D and E?

a. 48 b. 50 c.52 d. Data inadequate

A, B, vpp C g cpasim suemideien ggngfl euwg 45, B, D wpmid E eydw  epei)|
spemiseien agraf euwg 52 kg eaafed A, B, C,D wppw E— e gymefl euuwig ereten?
a.48 b. 50 c.52 d. 76y CursIOTETHTS Be0En6V




alendbaLd

Given A+;EJFC=45
A+B+C=45x3 1)
B+D+E 50
3
B+D+E=52x3 )
Data inadequate

97.  Average cost of 5 pen and 4 pencil is Rs. 36. The average cost of 7 pen and 8 pencil is Rs. 48.
Find the total cost of 36 pen and 36 pencil.

a. 3445 b. 3132 c. 3320d. 3543

5 Guenm wmmid 4 Ouendlede gynafl alemev em 36. 7 Guenm BmID 8 Ouededer yrafl allemev
ah 48. G 36 Cuenm wBmID 36 GuaTFeIaT allewevenuld &ewrLpslulayb?
a. 3445 b. 3132 c. 3320 d. 3543

allensbaELD

Average cost of 5 pen and 4 pencil = 36
Total cost =36 x 9 =324
sumof total cost

Total penand pencil

Average cost of 7 pen and 8 pencil =

_ Total cost
15
Total cost = 48 x 15 =720
Total cost of 12 pen and 12 pencil = 324 + 720 = 1044
Then, cost of 36 pen and 36 pencil = 1044 x 3 = 3132

48

5 Guenm @b 4 GQuendleden ggmam = 36
gk OFeva =36 X 9 =324
(7@uent + 8 Quentdedeir) agmaf = 48
OCorghg Feve =48 x 15 =720
Qurssd (12 CGuert + 12 Gueaidedsn) QFevey =324 + 720 = 1044
Qurssd (36 Guerm 36 Gueidleden Gaevey = 1044 x 3 = 3132

98.  The average age of four student is 15. If age 18 was misread as 10 during the calculations,
what will be the correct average?

a.17 b. 18 c. 20 d. 16

BTei@ LomewieuTaeferr  Fgmafl  euwg 15 sewdbdSl e Gurgd 18 euwensd 10 o6l Houpns
LS HHSHTe0, Fhwmer symafl eaiemeuTs BmHo@GD?

a.17 b. 18 c. 20 d. 16

alenéaLd

Age Difference =18 - 10 =8
Correct Average =15 + %

=15+2=17
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The average marks in English subject of a class of 24 students is 56. If the marks of three
students were misread as 44, 45 and 61 of the actual marks 48, 59, 67 respectively, then what
would be the correct average?

a. 56.5 b. 59 c.57.5 d. 57

R euGUler 24 reueuTsefer Symigeoll UTLSHer gyraf  HIOLSeT 56. DIFH60  ceamy
LOTERIUTHEMNEIT 2 6uTenLOWITe LOGHILIGILIGIISH6T 48, 59 oBmId 67 eaUuSBEG UHeoms 44, 45 oBmID
61 el Houpnad HeISHL G DUl o eavienowimer FImafl AHICUETHIH6NT 66666y ?
a. 56.5 b. 59 c.57.5 d. 57

alenebaLd

Total Actual marks = 48 + 59 + 67 =174

Total Mis-readed Marks = 44 + 45 + 61 = 150

Difference in Marks =174 - 150 = 24
=56+1=57

The average age of a husband and wife was 23 when they were married 5 years ago. The
average age of the husband, the wife and a child who was born during the interval is 20 years
now. How old is the child now?

a. 8 years b. 4 years c. 6 years d. 10 years
5 eibBEndHG (W& Hmwenid CFuig Osmemi Curg SHeveust - wweveialluller gyraf euwg 23
G, HBOLTSHI SHewieuat, Leeial. GWbHme (DL Geualulled UIBbaTT)-Qer FgTaf  euwig 20
UEWIBHHET 6160160 GWHmBHHEG BUICUTH eT6ileU6ney 6UULIGH?

a.8 eu@mLLD b.4 sumLD C. 6 aumLID d. 10 eu@mL1D

allensbaELD

present total age of husband and wife =23 x 2 +5x 2 =56
Present total age of husband, wife and child =20 x 3 = 60
Age of child = 60 - 56 = 4




